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ke TR e OB F Al =X FER/m
il A
A-1 DCIP(K) ¢ 75 | DP=1.60m|1.00 1.00
HiEB
B-1 HPPE ¢ 100 DP=0. 90m |0. 82 0.82
HiEB
B-2 HPPE ¢ 100 DP=1. 20m|0. 65 0. 65
HiEB
B-3 HPPE ¢ 75 DP=0. 90m|2. 65 2.65
HiiE B
B-4 HPPE ¢ 75 DP=1. 20m|5. 49 5. 49
HiEB
B-5 HPPE ¢ 75 DP=1. 75m|1. 35 1.35
HiEB
B-6 HPPE « HIVP ¢ 50 | DP=0. 40m|2. 81 2.81
HiEB
B-7 HPPE « HIVP ¢ 50 | DP=0. 90m|7. 43+57. 81 65. 24
HiEB
B-8 HPPE « HIVP ¢ 50 | DP=1.20m|1. 02 1.02
BT FH I E B
c-1 HPPE ¢ 150 DP=0. 90m |44. 66+128. 93+7. 83 181. 42
BT FH I E B
-2 HPPE ¢ 150 DP=1. 20m |0. 89+2. 41 3.30
BT FH I E B
c-3 HPPE ¢ 150 DP=1.90m|3. 91 3.91
BT EH I E B
-4 HPPE ¢ 100 DP=0. 90m|2. 26 2.26
BT FH I E B
-5 HPPE ¢ 100 DP=1. 20m |2. 74+1. 67+1. 00 5. 41
BT FH I E B
-6 HPPE ¢ 75 DP=0. 90m|8. 51+5. 58 14. 09
BT EH I E B
c-7 HPPE ¢ 75 DP=1. 75m|2. 49+2. 42 4.91
BT FH I E B
c-8 HPPE « HIVP ¢ 50 | DP=0. 90m|2. 49+3. 45 5.94
BT FH I E B
c-9 HPPE « HIVP ¢ 50 | DP=1.20m|1.54+1. 63 3. 17
P A= E N
E-1 HPPE ¢ 75 DP=0. 90m 8. 05 8. 05
P A= E N
E-2 HPPE ¢ 75 DP=1. 75m|1. 14 1.14
a7 — Mk
F-1 HPPE ¢ 50 DP=0. 90m|7. 05 7.05
HRiE
6-1 HPPE ¢ 100 DP=1. 20m|1. 28 1.28
HRiE
G-2 HPPE « HIVP ¢ 50 | DP=1.20m|1. 85 1.85
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ke i SRV 5 SEE/m
J-1 HPPE ¢ 100 DP=0. 90m|1. 40 1. 40

326. 21
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Hixea E2S FER: FAk 1 FEA8 ) i &
1m¥%"Y B 1m34Y it 1m34Y it

A-1 DCIP(K) ¢ 75 1. 00 1.48 1.48 0.16 0.16 1. 17 1. 17
B-1 HPPE ¢ 100 0.82 0.65 0.53 0.19 0.16 0.39 0.32
B-2 HPPE ¢ 100 0. 65 0.83 0. 54 0.19 0.12 0.57 0. 37
B-3 HPPE ¢ 75 2.65 0.62 1.64 0.16 0.42 0.39 1.03
B-4 HPPE ¢ 75 5.49 0. 80 4.39 0.16 0. 88 0.57 3.13
B-5 HPPE ¢ 75 1.35 1.70 2.30 0.25 0.34 1.35 1.82
B-6 HPPE « HIVP ¢ 50 2.81 0. 31 0.87 0.16 0. 45 0. 09 0.25
B-7 HPPE « HIVP ¢ 50 65. 24 0.61 39. 80 0.16 10. 44 0.39 25. 44
B-8 HPPE « HIVP ¢ 50 1.02 0.79 0.81 0.16 0.16 0.57 0. 58
C-1 HPPE ¢ 150 181.42 0. 65 117.92 0. 20 36. 28 0.27 48. 98
Cc-2 HPPE ¢ 150 3.30 0.83 2.74 0. 20 0. 66 0. 45 1.49
C-3 HPPE ¢ 150 3.91 1.87 7.31 0.31 1.21 1.31 5.12
C—4 HPPE ¢ 100 2.26 0.62 1. 40 0.19 0.43 0.27 0.61
C-5 HPPE ¢ 100 5.41 0. 80 4.33 0.19 1.03 0.45 2.43
C-6 HPPE ¢ 75 14. 09 0.59 8. 31 0.16 2.25 0.27 3. 80
Cc-7 HPPE ¢ 75 4.91 1. 66 8.15 0.25 1.23 1.17 5.74
C-8 HPPE « HIVP ¢ 50 5.94 0.58 3.45 0.16 0.95 0.27 1. 60
Cc-9 HPPE « HIVP ¢ 50 3. 17 0.76 2.41 0.16 0.51 0.45 1.43
E-1 HPPE ¢ 75 8. 05 0.61 4.91 0.16 1.29 0. 36 2.90
E-2 HPPE ¢ 75 1.14 1.67 1. 90 0.25 0.29 1.31 1.49
F-1 HPPE ¢ 50 7.05 0.58 4. 09 0.16 1.13 0. 36 2.54
G-1 HPPE ¢ 100 1.28 0.84 1.08 0.19 0.24 0.58 0.74
G-2 HPPE « HIVP ¢ 50 1.85 0. 80 1. 48 0.16 0. 30 0. 58 1.07
J-1 HPPE ¢ 100 1. 40 0.68 0.95 0.19 0.27 0. 44 0.62
= (m) 326. 21 (m3) 222.79 (m3) 61. 20 (m3) 114. 67
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TE T LT LT
EiRs O4% FER | EE TR t=15em| RIFAREA t=1lem | hiFR#ef t=15cm I
1m34Y Eis Im4 ¥ Eis 1m¥4» Eis

A-1 DCIP (K) ¢ 75 1.00

B-1 HPPE ¢ 100 0.82 0. 60 0. 49

B-2 HPPE ¢ 100 0.65 0. 60 0.39

B-3 HPPE ¢ 75 2.65 0. 60 1.59

B-4 HPPE ¢ 75 5.49 0. 60 3.29

B-5 HPPE ¢ 75 1.35 0. 90 1.22

B-6 HPPE - HIVP ¢ 50 2.81 0. 60 1.69

B-7 HPPE - HIVP ¢ 50 65. 24 0. 60 39. 14

B-8 HPPE - HIVP ¢ 50 1.02 0. 60 0.61

c-1 HPPE ¢ 150 181. 42 0.60| 108.85 0.60| 108.85
c-2 HPPE ¢ 150 3.30 0. 60 1.98 0. 60 1.98
c-3 HPPE ¢ 150 3.91 0.90 3.52 0.90 3.52
-4 HPPE ¢ 100 2.26 0. 60 1.36 0. 60 1.36
C-5 HPPE ¢ 100 5.41 0. 60 3.25 0. 60 3.25
C-6 HPPE ¢ 75 14. 09 0. 60 8.45 0. 60 8. 45
c-7 HPPE ¢ 75 4,91 0.90 4,42 0.90 4,42
C-8 HPPE - HIVP ¢ 50 5.94 0. 60 3.56 0. 60 3.56
c-9 HPPE - HIVP ¢ 50 3.17 0. 60 1.90 0. 60 1.90
E-1 HPPE ¢ 75 8. 05 0. 60 4,83
E-2 HPPE ¢ 75 1.14 0. 90 1.03
F-1 HPPE ¢ 50 7.05

G-1 HPPE ¢ 100 1.28

G-2 HPPE - HIVP ¢ 50 1.85

J-1 HPPE ¢ 100 1. 40

B (m) 326. 21 (m?2) 137.29 (m?2) 48. 42 (m?2) 143. 15
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LT LT FgT
Fikza mEes EE R t=16cm | L FBEEH t=10cm| B4 TR t=Tcn| fii%Z
1m34Y Eis Im4 ¥ Eis 1m¥4» 7t
A-1 DCIP(K) ¢ 75 1. 00 0.90 0.90
B-1 HPPE ¢ 100 0. 82
B-2 HPPE ¢ 100 0.65
B-3 HPPE ¢ 75 2.65
B-4 HPPE ¢ 75 5.49
B-5 HPPE ¢ 75 1.35
B-6 HPPE - HIVP ¢ 50 2.81
B-7 HPPE - HIVP ¢ 50 65. 24
B-8 HPPE - HIVP ¢ 50 1.02
c-1 HPPE ¢ 150 181. 42
c-2 HPPE ¢ 150 3.30
c-3 HPPE ¢ 150 3.91
-4 HPPE ¢ 100 2.26
C-5 HPPE ¢ 100 5.41
C-6 HPPE ¢ 75 14. 09
c-7 HPPE ¢ 75 4,91
C-8 HPPE - HIVP ¢ 50 5. 94
c-9 HPPE - HIVP ¢ 50 3.17
E-1 HPPE ¢ 75 8. 05
E-2 HPPE ¢ 75 1. 14
F-1 HPPE ¢ 50 7.05 0. 60 4.23
G-1 HPPE ¢ 100 1.28 0. 60 0.77
G-2 HPPE - HIVP ¢ 50 1.85 0. 60 .11
J-1 HPPE ¢ 100 1. 40 0. 60 0.84
5 (m) 326. 21 (m2) 5.13 (m2) 1.88 (m2) 0.84
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EAE R IR

EAE R IR

EAE R IR

e o GEE | SRS (13) t=3on| FEARKIAS (13) t=don| P %KIAS (13) t=5cm| (2
1m¥%"Y it Im34 Y it 1m34Y it

A-1 DCIP(K) ¢ 75 1. 00 0.90 0.90

B-1 HPPE ¢ 100 0.82 0. 60 0. 49

B-2 HPPE ¢ 100 0.65 0. 60 0.39

B-3 HPPE ¢ 75 2.65 0. 60 1.59

B-4 HPPE ¢ 75 5.49 0. 60 3.29

B-5 HPPE ¢ 75 1.35 0.90 1.22

B-6 HPPE « HIVP ¢ 50 2.81 0. 60 1.69

B-7 HPPE « HIVP ¢ 50 65. 24 0. 60 39. 14

B-8 HPPE « HIVP ¢ 50 1.02 0. 60 0.61

C-1 HPPE ¢ 150 181. 42 0. 60 108. 85
Cc-2 HPPE ¢ 150 3.30 0. 60 1. 98
C-3 HPPE ¢ 150 3.91 0.90 3.52
C—4 HPPE ¢ 100 2.26 0. 60 1. 36
C-5 HPPE ¢ 100 5.41 0. 60 3.25
C-6 HPPE ¢ 75 14. 09 0. 60 8. 45
Cc-7 HPPE ¢ 75 4.91 0.90 4. 42
C-8 HPPE « HIVP ¢ 50 5.94 0. 60 3. 56
Cc-9 HPPE « HIVP ¢ 50 3. 17 0. 60 1.90
E-1 HPPE ¢ 75 8. 05 0. 60 4.83
E-2 HPPE ¢ 75 1.14 0.90 1.03
F-1 HPPE ¢ 50 7.05 0. 60 4.23

G-1 HPPE ¢ 100 1.28 0. 60 0.77

G-2 HPPE « HIVP ¢ 50 1.85 0. 60 1.11

J-1 HPPE ¢ 100 1. 40

= (m) 326. 21 (m2) 1.88 (m2) 53. 55 (m2) 143. 15
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X Gl ALY o= | i
<As t=3cm>
+T 1G] EEDEE 3. 13 X 2% 6.26
2 6.26|m
<As t=bem>
+T TA] EEDOEE 1.00 X 2% 2. 00
+TT B EEOEF 80. 03 X 2#%# 160. 06
En 162. 06| m
<As t=10cm>
+T ICc) wEDEE 224,41 X 2% 448. 82
ks 448. 82|m
<Co t=10cm>
+T TF] EEOEE 7.05 X 2% 14.10
14.10|m
? m
? m




DR [ A8 At

X Gl ALY o= | i B
<ER. TT 5 W=15cm>
A NO.0 + 1.90 £k 1.00 X 2% 2.00
NO.0 + 4.83 {435 1.00 X 2% 2.00
NO.0 + 15.25 ~ NO.2 + 37.70 102.30 X 1 102. 30
NO.3 + 14.80 ~ NO.4 + 14.40 37.20 X 17 37. 20
NO.4 + 18.65 £k 1.70 X 14 1.70
ST - 2 + 2.35 £k 6.55 X 1% 6. 55
+ 5.00 3 6.60 X 1% 6. 60
43Iz 1 + 9.85 ~ + 11.25 1.40 X 1 1. 40
Az 2 + 8.95 3 1.65 X 1§ 1.65
Ayisz 3 + 1.95 3 3.00 X 1% 3.00
+ 6.95 £k 1.00 X 1 1. 00
T — LR IK + 0.80 T 1.95 X 1 1.95
BERRE 1 + 0.90 (DRl 1.25 X 15 1.25
#t 168. 60| m
<ER. TS5 W=30cm>
458z 3 + 4.80 £k 1.00 X 2% 2.00
&t 2.00|m
<Ef. TS5 W=4bem>
N NO. 0 b BERR A BT 1.00 X288 2.00
NO.0 + 11.50 3k S E 4.00 X 5% 20. 00
NO.2 + 37.65 £k 1.35 X 14 1.35
NO.3 + 10.80 {435 4.00 X 2% 8. 00
=L HEIK + 4.15 3 0.26 X 1% 0.26
= 31.61|m
<KH, . XF 15emifaii >
VNS NO. 1 £k 40 X1 23.70 X1 23.70
NO. 2 3k k=2 X1 14.10 X1 14. 10
NO.2 + 18.00 £k k=2 X1 14.10 X1 14.10
Ay 1 + 11.30 b ENEL X1 10.60 X1 10. 60
B 62.50|m




PHEH TEHRER

HPPE ¢ 150 BOEER ©  179.21 m AR 18.52 m/H KR AT 9 AT
+T C-1 FRYIIEE 1.05 m
4 g G - 7t " = HAL | % &=
S LE RS AT T (Bb) (0. 28BH
E BRG] (As) t=10cmPA T 1.05X0.60X9 m?2 5. 67
0. 28BHFEIA 4tDT
Asit iR T L=4. 2km DIDA 1. 05X 0. 60 X 0. 05 X9 m3 0.28
AsTBGERE T
ASE BE R} B B RS ORI &b T35 m3 0.28
0. 28BH
FEA A Hil (1.05X0.60X1. 13— 7 /4X0.1872X0.55) X9 m3 6. 28
BHO. 28%¢ A
FbHE B T 1.05X (0.60X0.38— 7 /4X0.1872) X9 m3 1.91
BHO. 28%¢ A
FRAERE TR T | Z o 1.05X0. 60X0.45X9 m3 2.55
0. 28BHFEIA 4tDT  |H&hkHE A
TR ESE T L=4. 9km DIDA m3 6. 28
TR T
BT U = BT T2 Fa—2 KRORK m3 6. 28
AT B R
TlERET t=15em & > /% 1.05X0. 60 X9 m2 5. 67
BIFAEA (M=-30)
LiERET t=15em & > /% 1.05X0. 60 X9 m2 5. 67
AR As (13)
LR IR t=bcm 1.05X0.60X9 m?2 5.67
HPPE - HIVP ¢ 50 Bl e & 80.60 m HiER : 23.26 m/H KR T 3 AT
+T B-7 FHRHIER 1.00 m
4 g G - 7t " = HAL | % &=
S R R T (Bt (0. 28BH
BRG] (As) t=10cmPA T 1.00X0.60X3 m?2 1. 80
0. 28BHF#IA 4tDT
Asit i T L=4. 2km DIDA 1.00X0.60X0.04X3 m3 0.07
AsFHEM T
ASEE BE R} B RS OR Bb T35 m3 0.07
0. 28BH
FEA A Hil (1.00X0.60X1.02— 7 /4X0.062X0.50) X3 m3 1.83
BHO. 28%¢ A
FbHE B T 1.00X (0.60X0.26— 7 /4X0.06°2) X3 m3 0. 46
BHO. 28%¢ A
FRAERE TR T | Z 1.00X0. 60X0. 65X 3 m3 1.17
0. 28BHFEIA 4tDT  |H&hlHE A
TR T L=4. 9km DIDA m3 1.83
TR T
BRS¢ BT Tv Fa—2 KRORK m3 1.83
BIFAEA (M=-30)
LlERET t=1lem # > /% 1.00X0.60X3 m2 1.80
BRI EEAs (13)
LR IR t=4cm 1.00X0. 60X 3 m?2 1.80




I

AT HERE HRHRML

HPPE ¢ 150 +T. C-1

BHE et

1ERE - O 3.BY Y T &
=g HPPE S +AR-As15emPl 203 m /H
HHE (2 4RELE) — S A=A A A AKFE-1LF0. 28m3  10embL 194 m2/H
[BE2S 150 mm R HI R HE) KB - 1LI%0. 28m3 [ FA%0. 20m3] 59 m3/H
[WEES (2 4B — mm ML IKIE-H o RBRE 36 m3/HA
EIME 0.18 m T A L JKIE-1. 8m K5 222 m2/H
(EgaNes (2 5RELE) m I EfE T KiE-NF1-t =50 250 m2/H
i e 0.07 A/m R T CRIaR) KB 1. 8m AR 222 m2/H
TATRAH (2 5REE) A/m BT (%) m2/H

2. £ T - GliEAERk AHEIAT (As) m2/H
T I g 0.60 m A1E1H T (Co) m3/ [
EELRES 1.18 m 4.+ T « SETHE (0mY4Y)
T FEAfE IR 0.38 m AEERR A I T 6. 00 m?2
MR LE 0.45 m PRYE T 6.48 m3
T AR 0.15 m YRR T 2.03 m3
S 0.05 m HRLT 2.70 m3
FERRIE Chriitea) 0.15 m TREET 6.00 m?2
FERERE  (BEEZEL) m Rl T 6.00 m2
LB Chiagiiea) 0.60 m SRR I T (RIEIHKE) m2
FlEREE (e m EhAERRAE I T (R IRy - T 2 E LB m3
AR (AshiiZE) 0.10 m LA T ChLFRmA) 6.00 m2
A IRJE (Cofizs) m kAR T (B E 22 E ) m2
A RS m LT (AshiiZE) m2
AR (B0 fE HhdE T (Cofizs) m3
HEERROIWTEL (1[EH., KIEIHEE) N
HEREIER (2@, AEIRK) EN

@10m Y Y THALDHH
SEEREIT T (1 |IE ., KE IR H
ESpE N 6.00m2 <+ 194.00m2/H= 0.03 H
PRAE T 6.48m3 <+ 59.00m3/H= 0.11 H
B L 10.00m +~ (AA/H <+ (0.07 + 0.00) A/m)= 0.18 H
YRR T 2.03m3 <+ 36.00m3/H= 0.06 H
HELT 2.70m3 <+ 36.00m3/H= 0.08 H
T8 AR T 6.00m2 <+ 222.00m2/H X 1= 0.03 H
RdifE T 6.00m2 <+ 250.00m2/H= 0.02 H
SEEREIT T (2B, AREIRK) H
SEERRIRE T ORI 10 H
SRIERHBEI T RGN - e ) H
LEgET Chigitea) 6.00m2 + 222.00m2/H X 1j@= 0.03 H
FREEET  (EERENE) H
AHEIAT (AskiizE) H
fhdET (CofiiZE) H
A & 0.54 H

HER 10m <+ 0.54H= 18.52 m/H




I

AT HERE HRHRML

HPPE « HIVP ¢ 50 £+ T. B-7

Beat et

1B - O 3. A e L&
=g HPPE S +AR-As15emPl 203 m /H
HHE (2 4RELE) — S A=A A A AKFE-1LF0. 28m3  10embL 194 m2/H
[BE2S 50 mm R HI R HE) KB - 1LI%0. 28m3 [ FA%0. 20m3] 59 m3/H
[WEES (2 4B — mm ML IKIE-H o RBRE 36 m3/HA
EIME 0.06 m T A L JKIE-1. 8m K5 222 m2/H
(EgaNes (2 5RELE) m I EfE T KiE-NF1-t =50 250 m2/H
i e 0.04 A/m R T CRIaR) KB 1. 8m AR 222 m2/H
TATRAH (2 5REE) A/m BT (%) m2/H

2. £ T - GliEAERk AHEIAT (As) m2/H
T I g 0.60 m A1E1H T (Co) m3/ [
EELRES 1.06 m 4.+ T « SETHE (0mY4Y)
T FEAfE IR 0.26 m AEERR A I T 6. 00 m?2
MR LE 0.65 m PRYE T 6.06 m3
T AR m R T 1.53 m3
S 0.04 m HRLT 3.90 m3
FERRIE Chriitea) 0.11 m T T m2
FERERE  (BEEZEL) m Rl T 6.00 m2
LB Chiagiiea) 0.60 m SRR I T (RIEIHKE) m2
FEREE (FEH L) m EEERRAR I T (ORI 1BEF - JEF 2T LER) m3
AIEIAE (AshiiZE) 0.05 m LA T ChLFRmA) 6.00 m2
A IRJE (Cofizs) m kAR T (B E 22 E ) m2
A RS m HhdET (AshiiZE) m2
AR (B0 JE HhdE T (Cofizs) m3
SEERREINTEL (1 EIE ., KE IR N
HEREIER (2@, AEIRK) EN

@10m Y Y THALDHH
SEEREIT T (1 |IE ., KE IR H
ESpE N 6.00m2 <+ 194.00m2/H= 0.03 H
PRAE T 6.06m3 <+ 59.00m3/H= 0.10 H
B L 10.00m +~ (AA/H <+ (0.04 + 0.00) A/m)= 0.10 H
YRR T 1.53m3 =+ 36.00m3/H= 0.04 H
HELT 3.90m3 <+ 36.00m3/H= 0.11 H
TEKET H
RdifE T 6.00m2 <+ 250.00m2/H= 0.02 H
SEEREIT T (2B, AREIRK) H
SEERRIRE T ORI 10 H
SRIERHBEI T RGN - e ) H
LEgET Chigitea) 6.00m2 + 222.00m2/H X 1j@= 0.03 H
FREEET  (EERENE) H
AHEIAT (AskiizE) H
fhdET (CofiiZE) H
A & 0.43 H

HER 10m =+ 0.43H= 23.26 m/H




P SHEEEE 40.00 m

. il R e ShZERR DT il R e ShZERR DT
BHOEE 1§ = As t=3cm As t=bcm As t=10cm Co t=10cm
(m) o P ER (m) | # | CPE ER (m) | B & P ER (m) | B ) P ER (m)
0 L R R 2
0 16. 07 |18 B AE T 2 2.00 32. 14
0 1
0 3. 11 F%IEH 1A 1 1. 00 3.11
0 1
0 3. 12| &g 1A 1 1. 00 3.12
0 1
0 2. 43| FRIEHE IR 1 1. 00 2.43
0 1
0 10. 27 | FEIEE 1A 1 1. 00 10. 27
0 1
1 4. 9. 66| 7&IEHE I 1 1. 00 9.66
1 4. 1
1 8. 3.91 F&IEHE A 1 1. 00 3.91
1 8. 1
1 17. 43 FEIEH 1A 1 1. 00 17.43
1 1
2 32. 00| F&HEE I 1 1. 00 32.00
2 1
2 19. 23 FEIEE 1A 1 1. 00 19.23
2 2
3 14.96 20 2.00 29.92
3 1
4 41. 31 | FEIETE IR 1 1. 00 41.31
4 1
4 0. 90| F& IR A 1 1. 00 0.90
4 2
4 3.10 20 2.00 6. 20
4 2
4 3.63 20 2.00 7.26
4 L HxE 2
4 0. 68 20 2.00 1.36
4 1
4 0. 60| 7& IR A 1 1.00 0. 60
WERXE D)7
0. L iiEA 2
1. 1. 00 20 2.00 2.00
AR B DR
0. L R R 2
6. 6. 04 |38 B AT 2 2.00 12. 08
6. 64 L R R 2
7.26)  0.62 20 2.00 1.24
7.26 2
8.64/ 1.38 20 2.00 2.76
8. 64 1
9.84|  1.20 BRI 1 1. 00 1. 20
9. 84 1
11.24) 140 Z&iR7E I 1 1. 00 1. 40




P SHEEEE 40.00 m

. il R e ShZERR DT il R e ShZERR DT
piil = S 1§ S As t=3cm As t=bcm As t=10cm Co t=10cm
(m) o P ER (m) | # | CPE ER (m) | B & P ER (m) | B ) P ER (m)
PEVRE 1 Syl 11 19 A D 2 e
+ 1.63 L HxE 2
+  3.48  1.85 20 2.00 3.70
i 2
+  6.64 L R 2
+ 10.48 3. 84 JE AT 2 2.00 7.68
+ 11,00 | miEB 1
+12.35|  1.35F&MEMEIE 1 1. 00 1.35
+  12.35 1
+ 15.00]  2.65 FEIEHEIE 1 1. 00 2.65
+  15.00 2
+19.49)  4.49 20 2.00 8.98
+19.49 1
+ 20,49 1.00 FEiEEIE 1 1. 00 1. 00
Sy 3 AR B DR
+ 0 0.60 L R R 2
+ 7.49 6. 89 |3H & AKT 2 2.00 13.78
+ 179 2
+ 8.00 0. 21 |38 B AT 2 2.00 0. 42
+ 0 8.00 LIL
+ 9,14 1.14
+ 9,14
+ 0 12.00  2.86
+ 12,00
+16.19  4.19
+16.19
+17.19)  1.00
(A& VN AR B D PERR
+ 0 0.60 L R 2
+ 3,51 2.91 20 2.00 5.82
+ 403 | miEB 2
+9.00  4.97 20 2.00 9.94
+9.00 2
+11.28)  2.28 20 2.00 4.56
+11.28 1
+ 12,48 1.20 FEIEHEIE 1 1. 00 1. 20
+ 0 12.48 | Co 1
+  13.35|  0.87 FEIEHEIE 1 1. 00 0. 87
+  13.35 1
+19.53| 618\ FEIEMIE 1 1. 00 6.18
+ 19.53 | ™iEB 1
+ 20,000 0.47 FEIEHEIE 1 1. 00 0. 47
+ 20,00 1
+ 0 26.00]  6.00 FEIEHEIE 1 1. 00 6.00
+26.00 1
+ 40,00 14.00 FEiEHEE 1 1. 00 14. 00
+40.00 1
+46.00] 600 FEIEEIE 1 1. 00 6.00
+46.00 1
+  51.00|  5.00 FEiEHIE 1 1. 00 5.00
+ 5100 1
+  60.57|  9.57 FEIEMIE 1 1. 00 9.57




S TR AR
B ACRIBERE  40.00 m
" SR By SR BT ST LR O e
piil =3 B 1§ S As t=3cm As t=bcm As t=10cm Co t=10cm
(m) % PHfE | LR (m) B R (m) | % I AER (m) | $C & | PE | SER (m)
+  60.57 2
+  71.30) 10.73 2 2.00 21.46
+  71.30 2
+  T1.57 0.27 2 2.00 0. 54
+  T1.57 2
+ 0 79.07 7.50 2 2.00 15. 00
+ 0 79.07 2
+ 0 79.34 0.27 2 2.00 0. 54
+ 0 79.34 2
+ 80.00 0. 66 2 2.00 1.32
PARYIZ VN
PeeE 2 ARSI DR 2
+ 0. 60 L EB A
+ 3.45 2.85 2.00 5.70
7 — VAR
+ 397 | TiEB 1
+ 4.88 0. 91| 7R 1A 1 1.00 0.91
+ 4.88 1
+ 5.40 0. 52| FX IR 1A 1 1.00 0.52
it 5.66 113.01 270. 97 7.05




P SHEEEE 40.00 m

. #JE LT FE L HET, FEL FE L
EE( fﬁ W= Hi3E A g B A 1 Hitins
o S B P A (d) | 2 B PSS mRed) | B B P i (ed) | 3 B P A (nd)
0 L AT E 3.00
0 16. 07 |3 B Ak 3.00/  3.00 48.21
0 2.20
0 3. 11 F%IEH 1A 1.58/  1.89 5.88
0 1.58
0 3. 12| &g 1A .79 1.69 5.27
0 1. 80
0 2. 43| FRIEHE IR 1.48)  1.64 3.99
0 1.48
0 10. 27 | FEIEE 1A 1.63)  1.56 16. 02
0 1.63
1 4. 9. 66| 7&IEHE I 1.60]  1.62 15.65
1 4. 1.75
1 8. 3.91 F&IEHE A .73 1.74 6. 80
1 8. 1.58
1 17. 43 FEIEH 1A 1.53]  1.56 27.19
1 1.53
2 32. 00| F&HEE I 1.52|  1.53 48. 96
2 1.52
2 19. 23 FEIEE 1A 1.58/  1.55 29. 81
2 1. 20
3 14.96 1.20)  1.20 17.95
3 1.62
4 41. 31 | FEIETE IR .75 1.69 69. 81
4 1.75
4 0. 90| F& IR A 2.28)  2.02 1.82
4 1. 20
4 3.10 .20/ 1.20 3.72
4 1. 20
4 3.63 1.20)  1.20 4.36
4 L HxE 1. 00
4 0. 68 .00/ 1.00 0. 68
4 0. 89
4 0. 60| 7& IR A 0.89 0.89 0.53
BERRE BT
0. | mEA 1. 50
1. 1. 00 1.50/  1.50 1. 50
AR 1A R
0. L AT E 6.51
6. 6. 04 |38 B AT 6.61 6. 56 39. 62
6. 64 L BT E 1.20
7.26)  0.62 1.20)  1.20 0. 74
7.26 1. 20
8.64/ 1.38 1.20)  1.20 1. 66
8. 64 1.97
9.84|  1.20 BRI 1.64) 1.81 2.17
9. 84 1.64
11.24) 140 Z&iR7E I 1.62]  1.63 2.28




P SHEEEE 40.00 m

. #JE LT FE L HET, FEL FE L
WA Eﬁ(mffﬁ W= Hi3E A g B A 1 Hitins
S5 I A (o) | B | CPE mRt (o) | Bk R P | @R (m) | B ) P A (od)

PEVRE 1 Syl 11 19 A D 2 e

+ 1.63 | A 1. 00

+  3.48  1.85 .00/ 1.00 1.85
i 2

+  6.64 L R 3.00

+ 10.48 3. 84 JE AT 3.00 3.00 11.52

+ 11,00 | miEB 1.74

+12.35|  1.35F&MEMEIE .74 1.74 2.35

+  12.35 1.59

+ 15.00]  2.65 FEIEHEIE 1.61 1. 60 4.24

+  15.00 1. 20

+19.49)  4.49 .20/ 1.20 5.39

+19.49 1.47

+ 20,49 1.00 FEiEEIE 1.47)  1.47 1.47
Sy 3 AR B DR

+ 0 0.60 L R R 3.00

+ 7.49 6. 89 |3H & AKT 3.00 3.00 20. 67

+ 179 3.00

+ 8.00 0. 21 |38 B AT 3.00 3.00 0.63

+ 0 8.00 LIL

+ 9,14 1.14

+ 9,14

+ 0 12.00  2.86

+ 12,00

+16.19  4.19

+16.19

+17.19)  1.00
(A& VN AR B D PERR

+ 0 0.60 L R 1.20

+ 3,51 2.91 1.20)  1.20 3.49

+ 403 | miEB 1. 20

+9.00  4.97 .20/ 1.20 5.96

+9.00 1. 20

+11.28)  2.28 .20/ 1.20 2.74

+11.28 2.20

+ 12,48 1.20 FEIEHEIE .72 1.96 2.35

+ 0 12.48 L Co

+ 13.35 0. 87| 7% IR 1A

+  13.35

+  19.53 6. 18| 7% IR 1A

+ 19.53 | ™iEB 1.37

+ 20,000 0.47 FEIEHEIE 1.37)  1.37 0. 64

+ 20,00 2.12

+ 0 26.00]  6.00 FEIEHEIE 2.12)  2.12 12.72

+26.00 2.40

+ 40,00 14.00 FEiEHEE 2.40/  2.40 33. 60

+40.00 1.71

+46.00] 600 FEIEEIE 1.71 1.71 10. 26

+46.00 1.70

+  51.00|  5.00 FEiEHIE .70/ 1.70 8.50

+ 5100 1.70

+  60.57|  9.57 FEIEMIE .70/ 1.70 16.27




HiE T EHE R
FARESE 40.00 m
o KL #E T BT, £ET #E T
mooA EE( fﬁ W= Hi3E A g B A 1 Hitins
i 3% Y fE | AR (nd) | B B P | mRE (o) | 2k B P miRE (od) | 2% B P R (of)
+  60.57 1.20
+  71.30| 10.73 1.20)  1.20  12.88
+ 71.30 1.20
+  T1.57|  0.27 .20, 1.20 0.32
+ 7157 1.20
+79.07|  7.50 1.20,  1.20 9. 00
+ 0 79.07 1.20
+79.34]  0.27 1.20,  1.20 0.32
+ 0 79.34 1.20
+ 80.00/ 0.66 1.20,  1.20 0.79
PARYIZ VN
PR 2 AHRAE B P bR
+ 0. 60 L BT E 1.95
+  3.45 2.85 1.95  1.95 5.56
7 — VAR
+ 3,97 | miEB 0.99
+ 4.88)  0.91|7%iIR#IA 0.99  0.99 0.90
+  4.88 1.20
+  5.40|  0.52|7%iR#EIA .20, 1.20 0.62
it 1.50 131.32 393.78 3.06




P SHEEEE 40.00 m

B s T T
(m) S5 M mAE (o) | B | PME | dRt ()
AR
0 0. 00 L B
0 16.07| 16. 07 3 FEARINT
0 16. 07
0 19.18 3. 11 FRIEHE IR
0 19.18
0 22. 30 3. 12 FRIEH IR
0 22. 30
0 24.73 2. 43| FRIRAE 1A
0 24.73
0 35.00] 10.27| 7R IH
0 35. 00
1 4.66 9. 66| 7% IR IH
1 4.66
1 8.57 3. 91 FRIEH A
1 8.57
1 26.00| 17.43 7S IH
1 26. 00
2 18.00|  32.00 F&iE{E A
2 18.00
2 37.23] 19. 23| FEIEEIH
2 37.23
3 12.19] 14.
3 12.19
4 13.50| 41.31 F%iEE A
4 13.50
4 14. 40 0. 90| FX IR 1A
4 14. 40
4 17.50) 3.
4 17.50
4 21.13) 3.
4 21.13 L HxE
4 21.81 0.
4 21.81
4 22. 41 0. 60| FX IR 1H
WERXE D)7
0. 00 | mEA
.00/ 1.00
AR B DR
0. 60 L B
6.64 6. 04 iH BRERT
6. 64 L B
7.26)  0.62
7.26
8.64/ 1.38
8. 64
9.84 1. 20 | FRIRTE IR
9. 84
11. 24 1. 40 | FRIRTE IR




P SHEEEE 40.00 m

‘ W N #JE L FE L
TS (m) i % i Co
S5 M mAE (o) | B | PME | dRt ()
PEVRE 1 Syl 11 19 A D 2 e
+ 1.63 L HxE
+  3.48  1.85
i 2
+  6.64 L BT A
+ 10.48 3. 84 JE AT
+ 11,00 | miEB
+  12.35 1. 35 | FRiIR1E IR
+  12.35
+  15.00 2. 65| 7R 1A
+  15.00
+19.49)  4.49
+19.49
+20.49 1. 00 | FRIR1E IH
Syl 3 AR B DR
+ 0 0.60 L B
+ 7.49  6.89 3HEKAENT
+ 179
+ 0 8.00]  0.21 AN
+ 0 8.00 1L 0.90
+ 9,14 1.14 0.90/  0.90 1.03
+ 9,14 0. 60
+ 0 12.00  2.86 0.60/  0.60 1.72
+ 12,00 0. 60
+16.19  4.19 0.60/  0.60 2.51
+16.19 0. 60
+17.19)  1.00 0.60/  0.60 0. 60
(A& VN AR B D PERR
+ 0 0.60 L BB A
+ 3,51 2.91
+ 403 | miEB
+9.00  4.97
+9.00
+11.28)  2.28
+11.28
+  12.48 1. 20 | FRIRTE IR
+ 0 12.48 | Co 1.62
+  13.35|  0.87 FEIEHEIE .27 1.45 1.26
+  13.35 1.27
+19.53| 618\ FEIEMIE .27 1.27 7.85
+ 19.53 | ™iEB
+20.00 0. 47| 7% IR 1A
+ 20,00
+26.00 6. 00| FX IR 1H
+26.00
+40.00| 14.00 FEIEEIH
+40.00
+ 46.00 6. 00| FX IR 1H
+46.00
+  51.00 5. 00 ZEIEHE A
+ 5100
+  60.57 9. 57| 7R 1A




W TR
R EEERE  40.00 m
‘ W N #ET FE L
TS (m) i % i Co
% PR fiE | iR (nd) P | i (nf)
+  60.57
+71.300 10.73
+ 71,30
+ 7157 0.27
+ 7157
+ 0 79.07  7.50
+ 79,07
+79.34) 0.27
+ 79,34
+ 80.00  0.66
T —IuaK
PERE 2 AR B DR
+ 0 0.60 L A
+  3.45|  2.85
7 —VaK
+ 3.97 | miEB
+ 4.88 0. 91| 7R 1A
+  4.88
+ 5. 40 0. 52| FX IR 1A
it 5. 86 9.11




i E e e
% i) g5 i i &t i

B ED
A PN RN

ZEKIATE kAR ¢ 75 1 JL
A—/LFp GF

L R—H s ¢ 75 H=100 7. 5K (2f#) 1 1
7.5K GF

75 VR 6 75X 150H 1 eS|
7. 5K GFIE

77 v UHEFEMEL |75 SUS BN 3 FH

7T v kTR | ¢ 75 1 pi
CGESIE!

75 UkERaRe s | ¢ 75 1 HH
BT AR

WkieR sy 7 2 [H=730 1 1

(Mg - A T)

HAMRERE T B R 1 &P

H kA

Ry 7 AET. [H=730 1 % Pt

T AR RR
75 VUL ¢ 75 7.5K 3 -1 5]




] i 7 A sk KL TIER (m) wekrEk () faior o masscs o
teti . 4 o i =
7 C-10| G=3 | H-1 L M ¢ 20 X ¢ 20
15.2[ 8.3] 2.9[ 1.0] 0.2 27.6 2
1 /& INO. 0+12. 44 7 38 R P4 R A HPPE ¢ 150 PE ¢ 20 3.6] 8.3 0.2 12.1 1
2 4 INO. 0+16. 10 38 P AR A HPPE ¢ 150 PE¢20 | 11.6 2.9] 1.0 15.5 1




o T e | A 27 [ PEEMET [ PEEBIWr [HI= = | TSk [VPE TSTTISS* v [BERVPE ]  1LKRE TR
R e s |ovro wves | e |eme] o | oom | o
620 620 620 620 620 620 620 620 20 520 | 020] 025 0 20~25/1
2 2 1 1 2 2 2 5 5 T -
1 1 1 2 2 1 1 1 3 T > - -
2 1 1 2 2 1 1 1 3 1 5 1 .




fa/KE  ME BERRT R

4 i G 4 i 2V &
LR (B8R WkE—ER LY

KYxzFLr @] ¢20 27.6
FKA U H MAKE—ERLY

BRI R0y AR | ¢ 150 X ¢ 20 9
PEU & v FHkTF WKkE—ER LY

Sy 1K (MEAD | 620 2
PLU & v FHkTF WKkE—ER LY

2— 4 F60° ~ K (it | ¢ 20 2
PED % v Tk T |6 HE WKkE—ER LY

Avay 6 20 4
®"F MMt WkE—ERLY

Hlz=A4> Y/ v ;| ¢ 20 2
TSHET WKkE—ER LY

HIY 7 v b $ 20 2
F—nr P [EKE-EELY

B—v ik ke 6 20 2
WKkE—ER LY

LRI 7 A $ 20~25H] 2

WERE PR MK —RRLY
S¥x 7 ¢ 20 2




fa /K& )AL WEEFTER
4 i G 4 A | =X BoE | W B
WkE—ER LY
PEE PR T $ 20 27.6|m
BlAKA U ek [fakE—EBEREIY
Sy IK A A P 150X ¢ 20 WMAKEEAEEED 2| i
MKE—ERLY
PEE KT T. 6 20 Al
WKkE—ER LY
PEE BT T $ 20 2l
WKkE—ER LY
VP TSHET T $ 20 6|0
53 WkE—ERLY
VP BT T $ 20 4ln
MKE—ERLY
(KRR T $ 20 AR OUE K E OB & &t 2|t




fmAKE LT BT 1/2 WEEFTER
4 i G 4 i = -
As MEEEIWIER (L TH) K TR
SHEERR Y BT T t=3cm 16. 60 + 14. 18 = 30.78 31|m
As HEEEWIER (L TH) K A
SHEERR Y BT T t=5cm 5. 80 + 3. 48 =928 9|m
As MEEOIWIER (L TH) K A
SHEERR Y KT T t=10cm 30. 40 + 25. 28 = 55. 68 56| m
Co AL (1 TRE)
SHEERR Y BT T t=10cm 2.00 = 2.00 2|m
As 2t hI vz %% L TAE &
7 v B —iEJRiEM |L=21. 7km DIDA 0. 023 X 30. 78 X 0.03 = 0.02 0.02|m3
As 2t hI v %% L AE &
7 v B —iEJRiEM |L=21. 7km DIDA 0. 023 X 9.28 X 0. 05 = 0.01 0.01|m3
As 2t NTF w7 e%q AL TR 2 &
7> B —iEJRiEM |L=21. 7km DIDA 0. 023 X 55. 68 X 0. 10 =0.13 0.13|m3
Co 2t hI v %% L MTIE &
7 v Z—iEJRiEMg |L=21. 7km DIDA 0. 023 X 2. 00 X 0.10 = 0.0046 0.005|m3
As 7 v B G TEE I
> B—{EJRALY (v yaonsy—mmry 0.2|m3
Co 7 B G TEE I
W B =GPy v oy — gy 0.005|m3
SlLERRAAR: T (B (0. 28BH SREIUHIH O F #JB TAsDE
EHEHEE] (As) t=10cmPL T 15. 84 + 42. 98 = 58.82 59| m2
0. 28BHFEIA  4tDT [atemsfsain x =2 KB TAsX 5
AsikiEl T L=5. 4km DIDA 0. 68 + 3.71 = 4,39 4|m3
ASTEGEE TIZH
AsER I FERL HiET A 2 R 4|m3
av 7 U— M KB TCo (FHIA) IR
B L NI 1 0. 30 X 0.10 = 0.03 0.03|m3
0. 28BHFEIA  4tDT |=v 27 U — MiHE Lzl L
CoiEHfk T L=3.0km DIDA 0.03|m3
CoikidE il TIZ[F U
Cork B LR} ANECE 0.03|m3
0. 28BHFEIA 4tDT |wrsatmisk
gl WHEE, Rt mEt| 15.74 = 15.74 20|m3
VAN ES
ANJ1HEH! WE L, Rkl BEL|  0.10 =0.10 0.10{m3
0. 28BH#E A VAT ES
PR T 4.22 = 4,22 4|m3
0. 28BH#E A VAN ES
HAEREMMRET [ Z3 8. 46 = 8.46 10{m3
VRGN ES
i MR T LA 0.10 =0.10 0.10{m3
0. 28BHFEIA 4tDT  |khsdim ] NS IHm ] T R
T biEHE T 1=5.6km DIDA 15. 74 + 0. 10 — 0. 10 = 15.74 20|m3
FAbES TIZF C
R U 5L Na— 2 KROYE 20{m3
A F i AR A SRR
TERET t=15cm & /% 9.12 =9.12 9|m2
A F i AR A SRR
AT t=10cm % /% 4.98 = 4.98 5|m2
Rrfa (M-30) TREA R
AT t=15cm & /% 9.12 =9.12 9|m2
A F i AR A SRR
AT t=16cm & /% 1.74 =1.74 2|m2
FAEBRLEAs (13) | raks
AEEE IR t= 3cm 4.98 = 4,98 5|m2
FAEBRLEAs (13) | raks
R IR t= 4em 1.74 = 1.74 2|m2




faKE - WEET 2/2 WEEEFR
£ b G 4 it B = BoE | W B

FEBRLEAs (13) | raks

SEEE IR t= 5cm 9.12 9.12 9|m2

#@ Lo FiEgE T o

N AN 42. 98 — 15. 84 = 27.14 27|m2

P =aN A HLRLEEAS (20) (BELAY) |k st T 3 i

(BT & i ) t=5cm 34. 15 = 34.15 34|m2

=ET R AS (20) (BCEE 1 AIBRC &) |y K s T3 i =

(BT 3 i ) t=5cm 34. 15 = 34.15 34|m2

#ET FEAAMRI EEAS (13)  |eakesss Tabpis

(H*3EAs) t=3cm 7.09 7.09 7|m2

FKET TR RAs (13) (ABLAG) |#/KGHAE T35

(HEAsTEAN) t=5cm 1.74 1.74 2|m2

BT 338 18-5-25BB TR

(EHNCo) t=10cm 0. 30 0. 30 0.3|m2
FEi, 7o I T 514 1 A %

X R IH T W=15cm 5. 10 5.10 5|m
FEi, 7o I T 514 1 A %

X AR IH T W=45cm 8.10 8. 10 8|m




T THERSR

Ciik=2 (mEES il =Y SER/m
AT A MAKE BRI

C-10 $50LL T DP =0. 90m 15.2
HR5E MAKE—ER LY

G-3 ¢ H0LL T DP =0. 90m 8.3
HRE R Ad MAKE—ER LY

H-1 ¢ H0LL T DP =0. 90m 2.9
BN Cco MAKE BRI

L ¢ H0LL T DP =0. 30m 1.0
RN Rehfids MAKE BRI

M ¢ H0LL T DP =0. 30m 0.2

27.6




bR I p L) WM (bR
Ciik=2 (mEES JiI=3 m3 m3 m3 I ES
1m¥Y i 1m¥Y i 1m¥Y &t

c-10 & 50LL F 15.2 0. 58 8. 82 0.16 2.43

G-3 »50LLF 8.3 0. 62 5.15 0.16 1.33

H-1 $50LLF 2.9 0.61 1.77 0.16 0. 46

L $50LLF 1.0 0. 08 0. 08
M »50LLF 0.2 0.11 0. 02
z 27.6 15. 74 0. 10 1.2
AR MR P R
EiR= NE2 FiE e m3 m3 B
1m¥4 Y B 1m¥4 Y B 1m¥4 Y E

c-10 & 50LL F 15.2 0. 27

G-3 »50LLF 8.3 0. 40

H-1 $50LLF 2.9 0. 36

L »50LLF 1.0 0. 08 0. 08

M $50LLF 0.2 0.11 0. 02

Z 27.6 0. 10
Fikea (WEES Y %

1m¥4 Y B 1m¥4 Y B 1m¥4 Y E




JAERT R R

T e BAHE T (t=15cm)

T BAHE T (t=10cm)

T BAHE T (t=15cm)

EiR= mEES SE£ m2 m2 m2 i
1m3¥4b it 1m34b it 1m34b it
C-10 ¢ 50LL T 15. 2 0. 60 9.12 0. 60 9.12
G-3 $ 50LL T 8.3 0. 60 4. 98
H-1 ¢ 50LL T 2.9
L ¢ 50LL T 1.0
M ¢ 50LL T 0.2
B 27.6 9.12 4. 98 9.12
LA T (t=16cm) | {5AfZE T (t=3cm) {REHZE T (t=4cm)
EiR= mEES SE£ m2 m2 m2 S
1m¥%4Y 7t 1m¥%4Y E 1m¥%49Y 7t
C-10 ¢ 50LL T 15. 2
G-3 ¢ 50LL T 8.3 0. 60 4. 98
H-1 ¢ 50LL T 2.9 0. 60 1.74 0. 60 1.74
L ¢ 50LL T 1.0
M $ 50LL T 0.2
G 27.6 1.74 4. 98 1.74
{EfizE T (t=5em) | FJE T (RHINCo)
k=2 mEES SEF m2 m2 m2 =
1m¥%4Y E 1m¥%4Y 7t 1m¥%49Y i
C-10 ¢ 50LL T 15. 2 0. 60 9.12
G- $ 50LL T 8.3
H-1 ¢ 50LL T 2.9
L $ 50LL T 1.0 0. 30 0. 30
M $ 50LL T 0.2
G 27.6 9.12 0. 30




FHOIIE R (T HF)

X £ i B X & | 1§
<As t=3cm>
T 1G] IEEDOEE 8.30 X 2% 16. 60
il 16. 60| m
<As t=bcm>
+T. TH] JEEOEE 2.90 X 2% 5. 80
7 5.80|m
<As t=10cm>
+T ICl IEEDOEE 15. 20 X 2% 30. 40
B 30. 40[m
<Co t=10cm>
T L) JEREDOEE 1.00 X 2% 2.00
B 2.00{m
% m
% m
m




X IHEERAE H AE = At

[X. Eil

<FEHp, 7T W=15cm>

FaRFE 52 +5. 20 fhit 2.50 X 1t 2.50
+11. 40 f13T 2.60 X1t 2. 60
& 5.10|m
<FEfp, ¥7T W=45em>
fa/kE 1 +2. 30 fhit 2.10 X 1 2.10
FaRFE 52 +1. 60~+11. 00 {-J3F TR 0.60 X 10%% 6. 00




TS TRIE R (faK)

e ShAERR ) ShAERR ) ShAERR )
H =3 i%njﬁﬁ fit§ % As t=3cm As t=5cm As t=10cm
B OPE ER (m) | i B | S ER (m) | B & FEE | ER (m)
faK 1 AR 1H P PR
+ 1.50 L AT E 2
+ 3.61 2.11 2 2.00 4.22
+ 4.25 | HiE 2
+ 11.34 7.09 2 2.00 14.18
faK 2 AR 1H P PR
+ 0. 60 L AT E 1
+ 1.50  0.90 1 1.00 0.90
+ 1.50 2
+  11.58  10.08 2 2.00 20.16
+ 12. 28 | HBERAN 2
+ 0 14.02 1.74 2 2.00 3.48

B 14.18 3.48 25.28




TS TRIE R (faK)

o L, KE L BT FE L
WA iﬁ(m;% T it I B Kitins BEAsTAR
B B P R | % R Py | @A Gr) | 3% R P dEs (nd)

fazk 1 AR 1H FEPRIERR

+ 1.50 L RIS T I 1.20

+ 3.61 2.11 1. 20 1. 20 2.53

+ 4.25 | A 1.00

+ 11. 34 7.09 1.00 1.00 7.09
fa/k 2 AR 1H FEPRIERR

+ 0. 60 L RIS T G 1.53

+ 1.50 0. 90 1.53 1.53 1. 38

+ 1. 50 3.00

+ 11.58 10. 08 3.00 3.00 30. 24

+ 12. 28 l BEFE AN 1.00

+ 14. 02 1.74 1.00 1.00 1.74

B 34. 15 7.09 1.74




R B BEgEit®
4 g 3 ¥ 7 H =X o =
(R R &)
AR T FHE A MET R4 E®E—1 LY
HPPE ¢ 150, 100 +T C-1 18 H X 2 A A
AR T FHE A T R4 ERE—2 XY
HPPE ¢ 75, 50 +T B-7 9 H X 2
(R K 8 R i)
AR T FH A E T R4 E®E—3 LY
PE ¢ 50LL F +T C-10 3 H X 2 A

KEHICHEAL TS ETIE, FEREYATLT5,




fig T HBGEHRE— 1
HPPE ¢ 150, 100

BRI ENER, T C-1
BHE et

1ERE - O 3.BY Y T &
(=g HPPE S +A-As15emPL T 203 m /H
B (2 FfE) — S A=A A A AKFE-1LF0. 28m3  10embL 194 m2/H
mF2S 150 mm HEH RYE) JKGE-LIA%0. 28m 3 [SEA%0. 20m 3] 59 m3/H
[WEES (2 4B — mm ML IKIE-H o RBRE 36 m3/HA
(=ZANE 0.18 m T A L JKIE-1. 8m K5 222 m2/H
(EgaNes (2 &) m IR A%E T K- A F1-t =50 250 m2/H
i e 0.07 A/m B AR T CREGH) ZKaE-1. 8m AT 222 m2/H
TATRAH (2 5REE) A/m BT (%) m2/H

2. 1T - Bl2EAE R A IH T (As) FARHE 1. AT 50mmid T 250 m2/H
T I g 0.60 m A1E1H T (Co) m3/H
EELRES 1.18 m 4.+ T « SETHE (0mY4Y)
T FEAfE IR 0.38 m AEERR A I T 6. 00 m?2
MR LE 0.45 m PRYE T 6.48 m3
T AR 0.15 m R T 2.03 m3
S 0.05 m HRLT 2.70 m3
FERRIE Chriitea) 0.15 m T T 6.00 m?2
FERRE (L) m Rl T 6.00 m2
LB Chiagiiea) 0.60 m SRR I T (RIEIHKE) 12.00 m2
FlEREE (e m EhAERRAE I T (R IRy - T 2 E LB m3
AIEIAE (AshiiZE) 0.10 m LA T ChLFRmA) 6.00 m2
AEIRE (Cofizs) m kAR T (B E 22 E ) m2
A AE 1.20 m LT (Astfizt) 12.00 m?2
AR 8% 2 & HhdE T (Cofizs) m3
HEERROIWTEL (1[EH., KIEIHEE) 2 K
HEREIER (2@, AEIRK) IS 5. IR IEE 200. 45

@10m Y Y THALDHH
SALRREINT T (1| B, RIEIEFE)  10.00m X 24 <+ 203.00m= 0.10 H
ESpE N 6.00m2 <+ 194.00m2/H= 0.03 H
PRAE T 6.48m3 <+ 59.00m3/H= 0.11 H
B L 10.00m +~ (AA/H <+ (0.07 + 0.00) A/m)= 0.18 H
YRR T 2.03m3 <+ 36.00m3/H= 0.06 H
HELT 2.70m3 <+ 36.00m3/H= 0.08 H
T8 AR T 6.00m2 <+ 222.00m2/H X 1jE= 0.03 H
RdifE T 6.00m2 <+ 250.00m2/H= 0.02 H
SALRROINT T (2| B, AEIEEE)  10.00m X 1A <+ 203.00m= 0.05 H
EREERRIEEI T ORE HEE) 12.00m2 <+ 194.00m2/H= 0.06 H
SRIERHBEI T RGN - e ) H
LEgET Chigitea) 6.00m2 + 222.00m2/H X 1j@= 0.03 H
FREEET  (EERENE) H
AEIHT (AsHiEE) 12.00m2 =+ 250.00m2/H X 2J@= 0.10 H
fhdET (CofiiZE) H
A & 0.85 H

HER 10m <+ 0.85H= 11.76 m/H
T A% 200.5m=+11.76m/H = 18 H




fii T HEGHRE — 2

HPPE ¢ 75, 50
@B, T B-7

BHE et

1ERE - O 3.BY Y T &
=g HPPE S +A-As15emPl T 203m /H
HHE (2 FfE) — S A=A A A AKFE-1LF0. 28m3  10embL 194 m2/H
mF2S 50 mm HEH RYE) JKGE-LIA%0. 28m 3 [SEA%0. 20m 3] 59 m3/H
[WEES (2 4B — mm ML IKIE-H o RBRE 36 m3/HA
EIME 0.06 m T A L JKIE-1. 8m K5 222 m2/H
(EgaNes (2 &) m IR A%E T K- A F1-t =50 250 m2/H
i e 0.04 A/m B AR T CREGH) ZKaE-1. 8m AT 222 m2/H
TATRAH (2 5REE) A/m BT (%) m2/H

2. 1T - Bl2EAE R A IH T (As) FARHE 1. AT 50mmid T 250 m2/H
T I g 0.60 m A1E1H T (Co) m3/H
EELRES 1.06 m 4.+ T « SETHE (0mY4Y)
b HLRE I 0.26 m AEERR A I T 6. 00 m?2
MR LE 0.65 m PRYE T 6.06 m3
T AR m R T 1.53 m3
S 0.04 m HRLT 3.90 m3
FERRIE Chriitea) 0.11 m T T m?2
FERRE (L) m Rl T 6.00 m2
LB Chiagiiea) 0.60 m SRR I T (RIEIHKE) 12.00 m2
FlEREE (e m EhAERRAE I T (R IRy - T 2 E LB m3
AR (AshiiZE) 0.05 m LA T ChLFRmA) 6.00 m2
AEIRE (Cofizs) m kAR T (B E 22 E ) m2
A AE 1.20 m LT (Astfizt) 12.00 m?2
AR Ug%0 1 & HhdE T (Cofizs) m3
HEERROIWTEL (1[EH., KIEIHEE) VN
HEREIER (2@, AEIRK) IS 5. IR IEE 125.76

@10m Y Y THALDHH
SALRREINT T (1| B, RIEIEFE)  10.00m X 24 <+ 203.00m= 0.10 H
ESpE N 6.00m2 <+ 194.00m2/H= 0.03 H
PRAE T 6.06m3 <+ 59.00m3/H= 0.10 H
B L 10.00m +~ (AA/H <+ (0.04 + 0.00) A/m)= 0.10 H
YRR T 1.53m3 =+ 36.00m3/H= 0.04 H
HELT 3.90m3 <+ 36.00m3/H= 0.11 H
TEKET H
RdifE T 6.00m2 <+ 250.00m2/H= 0.02 H
SALRROINT T (2| B, AEIEEE)  10.00m X 1A <+ 203.00m= 0.05 H
EREERRIEEI T ORE HEE) 12.00m2 <+ 194.00m2/H= 0.06 H
SRIERHBEI T RGN - e ) H
LEgET Chigitea) 6.00m2 + 222.00m2/H X 1j@= 0.03 H
FREEET  (EERENE) H
AEIHT (AsHiEE) 12.00m2 =+ 250.00m2/H X 1jg@= 0.05 H
fhdET (CofiiZE) H
A & 0.69 H

HER 10m <+ 0.69H= 14.49 m/H

BT B 125.8m+14.499m/H = 9 H




fii T HBGHRE— 3

/K& (PE ¢ 50LL )
TR EIER, T C-10

BHE et

LERE - O 3. HY D fE T H:
(=g PE EHESln +A-As15emPL T 203 m /H
HHE (2 FfE) — S A=A A A AKFE-1LF0. 28m3  10embL 194 m2/H
mF2S 50 mm HEH RYE) JKGE-LIA%0. 28m 3 [SEA%0. 20m 3] 59 m3/H
[WEES (2 4B — mm ML IKIE-H o RBRE 36 m3/HA
EIME 0.06 m T A L JKIE-1. 8m K5 222 m2/H
(EgaNes (2 &) m IR A%E T K- A F1-t =50 250 m2/H
i e 0.04 A/m B AR T CREGH) ZKaE-1. 8m AT 222 m2/H
TATRAH (2 5REE) A/m BT (%) m2/H

2. 1T - Bl2EAE R A IH T (As) FARHE 1. AT 50mmid T 250 m2/H
T I g 0.60 m A1E1H T (Co) m3/H
EELRES 1.06 m 4.+ T « SETHE (0mY4Y)
b HLRE I 0.26 m AEERR A I T 6. 00 m?2
MR LE 0.45 m PRYE T 5.76 m3
T AR 0.15 m R T 1.53 m3
S 0.05 m HRLT 2.70 m3
FERRIE Chriitea) 0.15 m T T 6.00 m?2
FERRE (L) m Rl T 6.00 m2
LB Chiagiiea) m SRR I T (RIEIHKE) 30.00 m2
FlEREE (e m EhAERRAE I T (R IRy - T 2 E LB m3
AR (AsEiizs) 0.10 m LA T ChrFimeA) m2
AEIRE (Cofizs) m kAR T (B E 22 E ) m2
A AE 3.00 m LT (Astfizt) 30. 00 m2
AR 8% 2 & HhdE T (Cofizs) m3
HEERROIWTEL (1[EH., KIEIHEE) 2 K
HEREIER (2@, AEIRK) 2 K 5. IR IEE 26. 40

@10m Y Y THALDHH
SALRREINT T (1| B, RIEIEFE)  10.00m X 24 <+ 203.00m= 0.10 H
ESpE N 6.00m2 <+ 194.00m2/H= 0.03 H
PRAE T 5.76m3 <+ 59.00m3/H= 0.10 H
B L 10.00m +~ (AA/H <+ (0.04 + 0.00) A/m)= 0.10 H
YRR T 1.53m3 =+ 36.00m3/H= 0.04 H
HELT 2.70m3 <+ 36.00m3/H= 0.08 H
T8 AR T 6.00m2 <+ 222.00m2/H X 1jE= 0.03 H
RdifE T 6.00m2 <+ 250.00m2/H= 0.02 H
SALRROINT T (2| B, AEIEEE) 10.00m X 24K <+ 203.00m= 0.10 H
EREERRIEEI T ORE HEE) 30.00m2 =+ 194.00m2/H = 0.15 H
SRIERHBEI T RGN - e ) H
LEgET Chigitea) 0.00m2 =+ 222.00m2/H X 1jg@= 0.01 H
FREEET  (EERENE) H
AEIHT (AsHiEE) 30.00m2 <+ 250.00m2/H X 2f@= 0.24 H
fhdET (CofiiZE) H
A & 1.00 H

HER 10m <+ 1.00H= 10.00 m/H

BT B 26.4m+10.00m/H = 3 H




